


Bankruptcy, Liquidation, Reorganization
Learning Problems
Financial Distress at Motorway

Motorway Ltd. is a retailer of auto parts in Western Canada.  The company began a major expansion in late 2015, which included the construction of new stores, refurbishing older stores, a new advertising campaign, and an increase in head office staff. It is believed these actions would improve the company’s financial performance.

	
	2015
	2016
	2017
	 Industry Average 

	 Current ratio 
	1.91 
	1.34 
	0.99 
	1.85 

	 Cash ratio 
	0.37 
	0.15 
	0.08 
	0.50 

	 Inventory turnover in days 
	76.56
	82.34
	95.66 
	64 days 

	 Accounts receivable turnover in days 
	9.34 
	10.34 
	11.34 
	 30 days 

	 Accounts payable turnover in days 
	15.53 
	15.45 
	43.28 
	15 days 

	 Cash conversion cycle 
	76.15 
	71.45 
	63.72 
	79 days 

	 Fixed assets turnover  
	2.45 
	1.87 
	1.32 
	3.45 

	 Total assets turnover 
	1.75 
	1.51 
	1.09 
	2.10 

	 Debt ratio 
	36.00%
	63.45%
	74.78%
	31.00%

	 Times interest earned 
	8.84 
	3.21 
	1.25 
	14.00 

	 Effective borrowing rate 
	6.98%
	7.45%
	7.95%
	6.65%

	 Gross profit margin 
	39.00%
	40.00%
	41.00%
	44.00%

	 Operating profit margin 
	11.09%
	8.83%
	5.53%
	12.00%

	 Net profit margin 
	5.89%
	3.49%
	.45%
	6.99%

	 Return on assets 
	10.31%
	5.27%
	.49%
	14.68%

	 Return on equity 
	16.11%
	14.42%
	1.94%
	21.27%


	Analysis of ROE

	Year
	Net Profit Margin
	Total Asset Turnover
	ROA
	Debt Ratio
	ROE

	2015
	5.89%
	1.75
	10.31%
	36.00%
	16.11%

	2016
	3.49%
	1.51
	5.27%
	63.45%
	14.42%

	2017
	0.45%
	1.09
	0.49%
	74.78%
	1.94%


As a condition of its loans, lenders require that Motorway maintain a current ratio of at least 1.60 and a times interest earned of 5.00 or higher.  To increase sales, Motorway provides generous discounts and extends credit terms 2/10, net 30 instead of the industry average net 30.  Inventory is purchased 3/15, net 45.  Motorway began sourcing more parts internationally in 2015, but it still lags behind the industry.
REQUIRED:
1. What are the warning signs of financial distress?

2. What are the causes of financial distress?

3. What actions should be taken?
Using Altman Z-Scores in Success Industries
Success Industries is a publicly traded manufacturing firm that is applying for a bank loan at the Bank of Montreal.  The following financial statements were provided:

	Income Statement (CAD 000)
For the Year Ending December 31, 2007

	Sales
	5,000

	Cost of sales
	3,000

	Selling and administration
	1,000

	Earnings before interest and taxes
	1,000

	Interest expense
	500

	Earnings before taxes
	500

	Income taxes
	125

	Net income 
	375


	Balance Sheet (CAD 000)
December 31, 2007

	Cash
	100

	Accounts receivable
	1,000

	Inventories
	3,000

	  Total current assets
	4,100

	Land
	2,000

	Plant and equipment, net
	5,500

	  Total assets
	11,600

	Accounts payable
	2,000

	Notes payable
	1,500

	  Total current liabilities
	3,500

	Mortgage
	2,000

	Debentures
	3,000

	  Total long-term liabilities
	5,000

	Share capital
	2,000

	Retained earnings
	1,100

	  Total equities
	3,100

	  Total liabilities and equities
	11,600


The company’s share price is currently CAD 3.50.  One million common shares are outstanding.
REQUIRED:

1.
Using Altman’s Z-Score model, recommend whether Success should be approved for a business loan.

Liquidation of Juno Enterprises
Juno Enterprises has been forced into involuntary bankruptcy by its creditors and is being liquidated.  One of its lenders petitioned the courts for a Receiving Order after Juno missed a large balloon payment on its notes payable.  The liabilities and equities sections of Juno’s balance sheet are below:  

	Current liabilities (CAD)

	  Accounts payable
	6,500,000

	  Accrued wages
	300,000

	  Payroll remittances
	100,000

	  Notes payable
	19,250,000

	Total current liabilities
	26,150,000

	Long-term liabilities

	  Bonds 
	14,000,000

	  Subordinate debentures
	8,500,000

	Total Long-term Liabilities
	22,500,000

	Shareholders’ equity

	  Preferred shares
	2,350,000

	  Common shares
	8,500,000

	  Retained earnings
	500,000

	Total equities
	11,350,000

	Total liabilities and equities
	60,000,000


The book value of Juno’s assets is CAD 60 million, but only CAD 31.58 million was realized when they were liquidated. CAD 7.55 million was from the sale of an office building.

No single wage claim exceeds CAD 2,000.  The bonds are secured by the office building.  The debentures are subordinated to the notes payable.  Inventory of CAD 1,000,000 was purchased in the last 30 days, and the suppliers intend to reclaim it, but the inventory has been partially processed.  The Receiver General is owed CAD 100,000 in unpaid EI, CPP, and income tax remittances.  Administration expenses associated with the liquidation were CAD 4.8 million.  

REQUIRED:

1. Determine the distribution of proceeds to the creditors in a liquidation.

2. How would the answer to Part 1 change if notes payable were only CAD 7,000,000?

3. How would the answer to Part 1 change if the funds available to unsecured creditors were CAD 45,000,000?

Liquidation of Passchendaele Industries

Passchendaele Industries has been declared bankrupt by the courts, and a Trustee is liquidating its assets and distributing the proceeds to its creditors.  An appraisal of the company’s assets indicates they have a book value of CAD 360 million and a liquidation value of only CAD 240 million, which exceeds its liabilities.   

	Assets
	Book Value (CAD 000)
	Liquidation Value (CAD 000)

	Accounts receivable
	75,000
	46,000

	Inventory
	100,000
	55,000

	Equipment
	90,000
	60,000

	Land and building
	95,000
	79,000

	  Total assets
	360,000
	240,000


The liabilities include:

	Liabilities
	Book Value 
(CAD 000)

	Current Liabilities

	  Line-of-credit
	22,000

	  Trade accounts payable
	17,200

	  Wages payable
	8,500

	  Income tax payable
	3,100

	  EI payable
	1,750

	  CPP payable
	2,240

	  Rent Payable
	11,100

	Total current liabilities
	65,890

	Long-term liabilities

	  Term Loan payable
	79,000

	  Mortgage payable
	85,000

	  Subordinate debentures
	66,000

	Total long-term liabilities
	230,000


No wage claim exceeds the CAD 2,000 limit specified in the BIA.  The liquidation value of the assets includes CAD 8 million in identifiable inventory that was delivered by trade creditors in the last 30 days and has yet to be sold. The company is ten months in arrears on its rent.  The line of credit is secured by the accounts receivable and inventory.  The term loan is secured by the equipment, while the mortgage loan is secured by the land and building.  The debentures are subordinated to the term loan and the mortgage.  There were CAD 10 million in legal and accounting costs to administer the liquidation.

REQUIRED:

1. Determine the distribution of proceeds to creditors in a liquidation.  

Liquidation of Molotov Ltd.

The creditors of Molotov Ltd. elected a trustee to liquidate its operations after it was declared bankrupt by the courts.  The value of the company’s assets and liabilities was appraised as follows:

	Assets
	Book Value (CAD 000)
	Liquidation Value 
(CAD 000)

	Accounts receivable
	82,500
	50,600

	Inventory
	110,000
	60,500

	Equipment
	99,000
	66,000

	Land and building
	113,500
	104,500

	  Total assets
	405,000
	281,600


The liabilities include:
	Current Liabilities
	Book Value

(CAD 000)

	  Line-of-credit
	34,200

	  Trade accounts payable
	28,920

	  Wages payable
	9,350

	  Income tax payable
	3,410

	  EI payable
	1,925

	  CPP payable
	2,464

	  Rent Payable
	12,210

	Total current liabilities
	92,479

	Long-term liabilities
	

	  Term Loan payable
	86,900

	  Mortgage payable
	93,500

	  Subordinate debentures
	72,600

	Total long-term liabilities
	253,000


Inventory includes CAD 5 million in stock that was supplied by trade creditors in the last 30 days, but has not been used and can be located by the company.  None of the individual wage claims exceed the CAD 2,000 limit in the BIA.  The company is six months in arrears on its rent.  The line of credit is secured by the inventory and accounts receivable, the term loan is secured by the equipment, and the mortgage loan is secured by the land and building.  The debentures are subordinated to the term loan.  There were CAD 8 million in legal and accounting costs relating to the administration of the liquidation.

REQUIRED:

1. Determine how the proceeds will be distributed to creditors in a liquidation.  

Reorganization of Richard Enterprises

Richard Enterprises has been declared bankrupt by the courts as it has failed to pay several of its creditors.  Instead of liquidating, the company has filed a Notice of Intention and received a Stay from action by its creditors while it prepares a Proposal.

An appraisal of the company’s assets indicates they have a book value of CAD 300 million but a liquidation value of only CAD 259 million, which exceeds its liabilities.   

	Assets
	Book Value (CAD 000)
	Liquidation Value (CAD 000)

	Accounts receivable
	50,000
	53,000

	Inventory
	80,000
	60,000

	Equipment
	95,000
	65,000

	Land and building
	75,000
	81,000

	  Total Assets
	300,000
	259,000


The liabilities include:
	Liabilities (CAD 000)

	Current liabilities
	

	  Line-of-credit
	25,000

	  Trade accounts payable
	16,300

	  Wages payable
	8,000

	  Income tax payable
	2,000

	  EI payable
	1,500

	  CPP payable
	1,400

	  WCB premiums payable
	400

	  Rent payable
	10,000

	Total current liabilities
	64,600

	Long-term liabilities
	

	  Term loan payable
	75,000

	  Mortgage payable
	98,000

	  Subordinate debentures
	66,000

	Total long-term liabilities
	239,000


No wage claims exceed the CAD 2,000 limit specified in the BIA.  Assets include CAD 10 million in identifiable inventory that was delivered by trade creditors in the last 30 days and has not yet been sold.  The company is eight months in arrears on its rent.  The line of credit is secured by the trade receivables and inventory, the term loan is secured by the equipment, and the mortgage loan is secured by the land and building.  The debentures are subordinated to the term loan. Administrative costs related to developing and gaining approval for the Proposal are CAD 400,000.  The average industry debt ratio is 60%.  

REQUIRED:

1.  
Recommend a Proposal.

Reorganization of Alexa Industries
Alexa Industries has submitted a Notice of Intention to the courts and was provided with a Stay from its creditors to prepare a Proposal to reorganize its operations.  The following information was collected:
	Assets
	Book Value (CAD)
	Liquidation Value (CAD)

	Accounts receivable
	1,000,000
	700,000

	Inventory
	1,100,000
	600,000

	Machinery and equipment
	800,000
	400,000

	Building
	3,000,000
	1,800,000

	  Total assets
	5,900,000
	3,500,000


	Liabilities (CAD)

	Accounts payable
	1,400,000

	Wages payable
	300,000

	Payroll remittances
	200,000

	Bonds payable
	650,000

	Senior debentures
	1,300,000

	Subordinate debentures
	1,490,000

	  Total liabilities
	5,340,000


Bond payables have a lien against the machinery and equipment.  None of the employees has a wage claim greater than CAD 2,000. Identifiable inventory worth CAD 200,000 has been delivered in the last 30 days and has not been used.  Administration costs for developing the proposal are expected to be CAD 60,000.  The industry has an average debt ratio of 40%.

REQUIRED:

1. Recommend a Proposal.
Bankruptcy at a Canadian Company
REQUIRED:

1. Access the court orders and other disclosures for a company that has declared bankruptcy under the CCAA found on the Office of the Superintendent of Bankruptcy website.

2. Study these documents and other online news articles relating to the bankrupt company.
3. Prepare an approximately 200-word submission describing the status of the case.
4. Respond to the posts of at least three classmates.
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